SJ Sportscars Limited Parts and Accessories Price List

SJ Sportscars Limited Price List

Official Lotus Heritage Dealer

Lotus House, Marsh End, Lords Meadow Industrial Estate
Crediton, Devon, EX17 1DN

UK: 01363 777790/ 01363 775276
International: +44(0)1363 777790 / +44(0)1363 775276
E-mail: sales@sjsportscars.co.uk

Web: http://www.sjsportscars.com/

Elise 2011 Onwards

Printed on 21/11/2024

All prices correct at time of download, in Pounds Sterling and exclusive of Value Added Tax (VAT).

Page 1/32



SJ Sportscars Limited Parts and Accessories Price List

Body and Trim

Badges and decals

Description Unit Retail price Part number

COVER FILM - FRONT EDGE of L/H DOOR EACH £ 6.13 A120B4031S
DECAL REAR BUMPER EACH £ 33.00 A120B0450F
BADGE - S EACH £18.10 A132U0608F
BADGE-LO TUS (chrome letters) EACH £19.14 B124B0326F
NOSE BADGE EACH £ 66.10 B117U0170F
STONE CHIP FILM for RIGHT HAND SILL (Clear) EACH £ 36.50 A117B0706F
NOSE BADGE EACH £105.59 A117U0170F
RUBBER NUT M5 For nose badge fixing, where threaded badges used. EACH £0.75 A075W6074F
LABEL - PREMIUM UNLEADED FUEL Fitted in R/H door opening EACH £ 3.79 A082U7800F
BLANKING PATCH 26mm DIAMETER for DOOR MIRROR FIXINGS EACH £1.05 A116B0399F
DECAL - ACBC - GOLD EACH £2.63 AO0O7W6147Z
NOSE BADGE (Black and Silver) Special editions only EACH £110.12 A120U0169F
STONE CHIP FILM for LEFT HAND SILL (Clear) EACH £ 36.50 A117B0707F
BLANKING PATCH, EXTERIOR MIRROR HOLE EACH £1.25 A111V0206F
DECAL - 250 CUP - SIDE BLACK EACH £41.58 A704U0015F
LABEL - LUGGAGE LOADING EACH £12.85 B111UO0007F
WINDSCREEN DECAL - LOTUS SPORT EACH £51.08 A128B0093F
DECAL, SIDELAMP SWITCH EACH £ 6.68 A117MOOO5F
DECAL, HEADLAMP SWITCH for R/H/D EACH £9.98 A117MOO06F
DECAL - ROLL HOOP COVER EACH £ 32.01 A120B0454F
DECAL - HEADLAMP GRAPHIC for L/H/D EACH £ 3.56 A117MO045F
DECAL - REAR FOG GRAPHIC for L/H/D EACH £4.13 A117MO046F
DECAL - REAR FOG LAMP for R/H/D EACH £ 3.82 A117MOO07F
DECAL - CHEQUERED - DOOR INNER EACH £45.11 A120U0177F
BADGE - ELISE - CHROME (2011 to 2017.5) EACH £ 37.08 A120U0150F

Body Seals

Description Unit Retail price Part number

REAR ROOF/DOOR SEAL ASSEMBLY (For hard top/short soft top) EACH £ 410.67 B116VO098F
ROKUT RIVET Door cheater seal fixing. EACH £0.76 A079W6195F
L/H A POST CHEATER SEAL EACH £42.31 B117U0133F
SECONDARY DOOR SEAL (Front 600mm) EACH £29.11 B117U0429V
HARD TOP SEAL CARRIER - R/H EACH £19.06 B116V0240F
HARD TOP SEAL CARRIER - L/H EACH £19.06 B116V0241F
SEAL, TOP OF DOOR to GLASS, L/H EACH £ 285.10 C117UOO09F
SEAL, TOP of DOOR to GLASS, R/H EACH £285.10 C117U0010F
DOUBLE SIDED TAPE, 5 mm, SEALS to CARRIER Seal carriers to roof EACH £2.98 A117B0362V
FRONT ROOF/DOOR SEAL ASSEMBLY EACH £133.89 B116V0273F

Page 2/32



SJ Sportscars Limited Parts and Accessories Price List

R/H A POST CHEATER SEAL EACH £128.00 C117U0134F
L/H A POST CHEATER SEAL EACH £128.00 C117U0133F
SEAL - L/H A PILLAR (For noise reduction) EACH £77.87 Al17U0508F
SEAL - R/H A PILLAR (For noise reduction) 2007 Onwards EACH £77.87 Al117U0509F
SEAL STRIP FOR ENGING BAY GUTTERS METRE £7.64 A117U6001V
CANTRAIL SEAL, HARDTOP R/H EACH £109.26 B116V0248F
CANTRAIL SEAL, HARDTOP L/H EACH £109.26 B116V0249F

Body sections

Description Unit Retail price Part number

R/H DOOR HINGE COVER PANEL (Lower front wing section) EACH £ 420.05 A120B4060K
L/H ALLOY PLATE for LOWER CRASH STRUCTURE MOUNTING EACH £14.25 Al111B0531F
R/H ALLOY PLATE for LOWER CRASH STRUCTURE MOUNTING EACH £16.73 Al111BO0530F
R/H BODY SIDE PANEL EACH £1,012.35 C120B0050K
L/H BODY SIDE PANEL EACH £1,012.35 C120B0051K
FRONT CRASH STRUCTURE EACH £1,617.15 B120B0190J

SPIRE CLIP, M5 rear diffuser panels to body. EACH £0.79 B100W6372F
REAR TRANSOM PANEL - ELISE 2011 Onwards EACH £82.86 Al120B0271F
COVER for A PANEL FIXING R/H EACH £12.46 B117U0168F
COVER for A PANEL FIXING L/H EACH £12.46 B117U0169F
L/H DOOR HINGE COVER PANEL (Lower front wing section) EACH £ 420.05 A120B4059K

Bonnets

Description Unit Retail price Part number

FRONT ACCESS PANEL 2011 Onwards EACH £377.25 A120B0321J

SPIRE CLIP, M5 for front access cover screws. EACH £0.79 B100W6372F
PIN - FRONT ACCESS PANEL RETAINING EACH £16.61 A120B0342F
MOUNTING BLOCK ASSEMBLY for FRONT ACCESS PANEL EACH £21.19 A120B0325F
RETAINING WASHER for FRONT ACCESS PANEL FIXING SPACER EACH £1.32 A120B0310F
SCREW - for FRONT ACCESS PANEL EACH £1.32 A132W5026F

Boot / Tailgate

Description Unit Retail price Part number

GROMMET - ENGINE COVER STAY to BODY EACH £0.76 X036B6010Z
TAILGATE RELEASE LEVER for EXIGE L/H/D EACH £42.31 A122B0251S
RETAINING CLIP for BOOT STAY EACH £0.69 A082W6325F
LOCKING NUT for STRICKER PIN EACH £9.24 A120B0379F
SPRING for STRICKER PIN EACH £5.58 Al111U6023F
LABEL - LUGGAGE LOADING EACH £12.85 B111UO0OO7F
COVER - REAR ACCESS HANDLE R/H/D EACH £ 40.18 B122U0016K
TAILGATE STAY EACH £6.97 A120B0373F
NUT PLATE - M10 FLOATING EACH £6.13 B111UO032F
RETAINER-TAILGATE STAY EACH £18.51 C128U0034F

Page 3/32



SJ Sportscars Limited Parts and Accessories Price List

RELEASE LEVER HANDLE KIT £35.75 A120B0679S
HANDLE TAILGAE EACH £21.98 A122B0252S
Bumpers
Description Unit Retail price Part number
HINGE ASSEMBLY - ENGINE COVER EACH £ 34.18 B120B0287F
Carpets
Description Unit Retail price Part number
FOOTMAT FIXING - UPPER EACH £1.19 A124V0054F
FLOOR CARPET - UNDERSEAT (BLACK) EACH £ 77.33 A117V0095K
FOOTMAT FIXING (Male piece) (Silver) EACH £1.84 B120V0075F
FOOTMAT FIXING (Female piece) (Silver) EACH £1.84 B120V0076F
CARPET-INTERIOR BULKHEAD BLACK EACH £60.01 C120vV0042K
FLOORMAT FIXING - LOWER EACH £1.19 A124V0055F
CARPET - DRIVER FOOTWELL - BLACK for L/H/D EACH £118.07 A120V0060K
CARPET - PASSENGER FOOTWELL - BLACK for L/H/D EACH £115.54 A120V0061K
CARPET - L/H SILL for R/H/D (BLACK) EACH £84.79 Al117V0603K
FINISHER STRIP - SILL CARPET EACH £28.15 D117U0431F
Clamshells
Description Unit Retail price  Part number
FRONT CLAMSHELL (European models 2011 - 2017.5) EACH £ 5,400.38 C120B0238K
FRONT CLAMSHELL ALIGNMENT SHIM, 0.5mm EACH £4.94 A116B0460K
CLAMSHELL ALIGNMENT SHIM, 1mm EACH £4.40 A116B0461K
REAR CLAMSHELL (European models 2011 - 2017.5) EACH £ 5,469.49 A120B0317K
WASHER for CLAMSHELL FIXING BOLTS EACH £1.33 A111W4176F
NEOPRENE STRIP - Front and rear clamshell fitting. METRE £5.06 A054B6110V
FRONT CLAMSHELL (European models 2017.5 Onwards) EACH £5,670.41 A147B0002K
FRONT CLAMSHELL (European models 2011 - 2017.5) EACH £ 3,250.00 SJ120B0001
REAR CLAMSHELL (European models Up to 2010) EACH £ 2,750.00 SJ120B0002
FRONT CLAMSHELL (USA models 2011 - 2017.5) EACH £ 3,250.00 SJ121B0001

Clips and fasteners

Description Unit Retail price Part number

SCREW - WIPER MOTOR COVER FIXING EACH £ 0.53 A075W5040Z2
SCREW - UNDERTRAY FIXING - Stainless steel For aerofoil mounting bracket EACH £0.78 A111W1163F
SPIRE CLIP, M5 front undertray to crash structure. EACH £0.79 B100W6372F
WASHER - M5 x 19 BLACK EACH £ 0.44 B082W4107F
CLUNK BOLT, ROOF FIXING EACH £20.02 C121B0083F
NUTPLATE for BOTTOM of TOWING STRUT (2007.5 Model Onwards) EACH £ 26.98 A120B0200F
NUTPLATE for TOP of TOWING STRUT (2007.5 Model Onwards) EACH £7.24 A120B0203F
BOLT, M6 x 35, BOOT BOX to SUBFRAME (BLACK FINISH) EACH £ 2.54 A075W1033Z

Page 4/32



SJ Sportscars Limited Parts and Accessories Price List

NUT PLATE, R/H OIL COOLER BRACKET to CRASH STRUCTURE EACH £20.11 A120KO0017F
SCREW - UNDERTRAY FIXING - Stainless steel EACH £0.78 A111W1163F
RETAINER, TRIM/CLAMP PANEL to HEADER RAIL EACH £0.79 A116W4189F
SCREW, TRIM/CLAMP PANEL to HEADER RAIL EACH £1.08 A116W5258F
SCREW, REAR BRACKETS to ROOF EACH £1.08 A116W5260F
WASHER, M6 x 25 BLACK (Stainless steel) BOOT BOX to SUBFRAME EACH £0.99 A082W4131F
BLACK POP RIVET for REAR NUMBER PLATE PLINTH FIXING EACH £0.59 A082W6512F
BLACK POP RIVET for STOWAGE NET FIXING EACH £0.59 A082W6512F
BLACK POP RIVET for ALARM SWITCH BRACKETS to CLAMSHELS EACH £0.59 A082W6512F
WASHER, for WHEEL ARCH LINER FIXINGS EACH £0.99 A111W4159F
CAP HEAD SCREW M5 x 16 DOOR MIRROR FIXING EACH £0.99 A117W7216F
SCRIVET FASTNER - 8mm FRONT and REAR WHEEL ARCH LINER FIXING EACH £1.23 A120W6848F
SCREW, DRIVING LAMP BRACKET to CRASH STRUCTURE EACH £1.19 A100W1100F
EJOT EASY FASTENER TUNNEL TRIM FIXING EACH £0.65 A117F6000F
SCREW - UNDERTRAY FIXING - Stainless steel Front clamshell fixings EACH £0.78 A111W1163F
SCREW - UNDERTRAY FIXING - Stainless steel Rear diffuser and undertray fixing EACH £0.78 A111W1163F
FRONT CLAMSHELL ALIGNMENT SHIM, 0.5mm EACH £4.94 A116B0460K
CLAMSHELL ALIGNMENT SHIM, 1mm EACH £4.40 A116B0461K
BUTTON HEAD SCREW - Fuse box fixing EACH £1.08 A116W5281F
BUTTON HEAD SCREW - Fire extinguisher fixing EACH £1.08 A116W5281F
SCREW - CARBON ROOF PANEL FIXING BRACKETS EACH £1.32 A132W5026F
Dashboards

Description Unit Retail price Part number

CLIP, PASSENGER AIR BAG COVER to DASH PANEL EACH £2.28 B121UO0117F
PANEL - HEATER CONTROL MOUNTING EACH £ 37.15 C121U0032F
DECAL - REAR FOG LAMP for R/H/D EACH £ 3.82 A117MOO07F
PANEL - HEATER CONTROL MOUNTING EACH £ 37.15 C121U0032F
MOUNTING - CENTRE FACE LEVEL VENT EACH £ 38.67 Al138V0113F
RADIO BLANK-BLACK PAINTED EACH £199.31 A120V0588K
DECAL - HEADLAMP GRAPHIC for L/H/D EACH £ 3.56 A117MO045F
DECAL - REAR FOG GRAPHIC for L/H/D EACH £4.13 A117MO046F
DECAL, HEADLAMP SWITCH for R/H/D EACH £9.98 A117MOO006F
DECAL, SIDELAMP SWITCH EACH £6.68 A117MOOO05F
COVER - PASSENGER AIRBAG (Senosoft Black) EACH £201.92 A138V0151F

Door check strap parts

Description Unit Retail price Part number
DOOR CHECK STRAP SPRING EACH £12.80 C111B0174F
SUPPORT for DOOR CHECK STRAP SPRING EACH £8.38 C111B0175F
FOLLOWER - DOOR CHECK SPRING EACH £2.84 A116B0418F

Door handles

Description Unit Retail price Part number

Page 5/32



SJ Sportscars Limited Parts and Accessories Price List

SLEEVE - DOOR RELEASE BUTTON EACH £2.71 A117H6005S
EXTERIOR DOOR PULL L/H EACH £1.95 C117B0135F
SPINDLE/ LEVER - DOOR LATCH RELEASE L/H EACH £ 13.76 A116U0035F
ROD - INTERIOR HANDLE to LATCH L/H EACH £15.35 B117U0137F
DOOR PULL INSERT L/H EACH £4.02 Al117B0371F
DOOR PULL INSERT R/H EACH £4.02 Al117B0372F
INTERIOR DOOR RELEASE L/H EACH £28.51 A111U6005F
COVER DOOR LATCH R/H  (For latch security) EACH £3.70 A117U0426F
DOOR PULL EXTERIOR - R/H EACH £1.95 C117B0136F

Door hinge parts

Description Unit Retail price Part number

DOOR HINGE BUSH (2 per door) EACH £3.06 A111U6025F
DUST CAP for TOP of DOOR HINGE EACH £1.49 A111U6024F
DOOR HINGE BRACKET, ON BODY R/H EACH £ 66.67 A111U0055F
STEEL HOUSING for DOOR HINGE BUSH EACH £20.09 A111U0057F
SHIM - DOOR HINGE to CHASSIS 1.0mm EACH £6.13 A111B0316F

Door seals

Description Unit Retail price Part number

REAR ROOF/DOOR SEAL ASSEMBLY (For hard top/short soft top) EACH £ 410.67 B116VO098F
ROKUT RIVET Door cheater seal fixing. EACH £0.76 AO079W6195F
L/H A POST CHEATER SEAL EACH £42.31 B117U0133F
SECONDARY DOOR SEAL (Front 600mm) EACH £29.11 B117U0429V
SEAL, TOP OF DOOR to GLASS, L/H EACH £285.10 C117UO009F
FRONT ROOF/DOOR SEAL ASSEMBLY EACH £133.89 B116V0273F
R/H A POST CHEATER SEAL EACH £128.00 C117U0134F
L/H A POST CHEATER SEAL EACH £128.00 C117U0133F
ADHESIVE EACH £12.65 A138B6008V

Doors

Description Unit Retail price Part number

CENTRAL DOOR LOCKING ACTUATOR EACH £ 24.22 A138MO0087F
L/H DOOR (Glass fibre shell) EACH £1,003.74 E117B0061K
R/H DOOR (Glass fibre shell) EACH £1,003.74 E117B0060K
BUSH - DOOR LOCK ROD FIXING EACH £1.13 A111U6049F
DOOR BEAM, R/H EACH £199.97 A116U0030F
SEAL, TOP of DOOR to GLASS, R/H EACH £285.10 C117UO0010F
DOOR STRIKER (On body) EACH £19.82 A111U6003F
DOOR LATCH R/H EACH £164.80 A111U0388S
DOOR LATCH L/H EACH £164.80 A111U0389S
COVER-DOOR RELEASE ROD R/H EACH £2.87 A117U0320F
COVER - DOOR RELEASE ROD L/H EACH £3.10 A117U0321F

Page 6/32



SJ Sportscars Limited Parts and Accessories Price List

DOOR LOCK BUTTON EACH £4.77 A117U0330F
COVER DOOR LATCH L/H  (For latch security) EACH £3.70 Al117U0425F
BRACKET - DOOR BEAM to DOOR L/H EACH £ 34.63 C116B0179F
L/H DOOR GLASS EACH £167.51 F116B0185F
R/H DOOR GLASS EACH £167.51 F116B0186F
SPECIAL WASHER - STRIKER PIN to BODY EACH £8.07 A111U0136F
DOOR LATCH R/H EACH £89.34 A111U6006F
FRONT COLLAR, DOOR STRICKER EACH £28.12 A111U0138F
DOOR LATCH L/H EACH £89.34 A111U6007F
SCREW - DOOR LATCH FIXING EACH £0.99 A111W5214F
ROD - INTERIOR HANDLE to LATCH EACH £15.35 B117U0138F

Exterior trim

Description Unit Retail price Part number

UPPER MOUNTING BRACKET for REAR MUDGARD (340R Only) EACH £ 19.25 B340B0043F
STONE CHIP FILM for RIGHT HAND SILL (Clear) EACH £ 36.50 A117B0706F
DIFFUSER EDGING STRIP, BLACK for EXIGE METRE £8.25 A122A0029V
EDGING STRIP for ROOF SIDES and EDGE of B POSTS METRE £11.77 Al111U6034V
STONE CHIP FILM for LEFT HAND SILL (Clear) EACH £36.50 Al117B0707F
TAPE - 3M SUPERBOUND 396 EACH £110.02 A120M6007V
BLANKING PLUG for DOOR MIRROR FIXINGS EACH £1.32 A124W6857F
BLANKING PATCH, EXTERIOR MIRROR HOLE EACH £1.25 A111V0206F
BLANKING PATCH 26mm DIAMETER for DOOR MIRROR FIXINGS EACH £1.05 A116B0399F
FRONT NUMBER PLATE PLINTH (Eurpean models up to 2017.5) EACH £ 109.57 A120B0304J

MUDFLAP - FRONT R/H EACH £30.32 D117B0172F
SOFT TOP ASSEMBLY, BLACK (Short type) EACH £1,033.16 A120B0199F
REAR WHEELARCH FINISHER L/H EACH £9.75 A128B4011F
EDGE FINISHER - HARDTOP EACH £7.73 B120UO097F

Grilles

Description Unit Retail price Part number

GRILLE - FRONT EXIT L/H - 2011 Onwards EACH £103.24 B120B4039F
GRILLE - FRONT EXIT R/H - 2011 Onwards EACH £ 90.33 B120B4040F
FRONT GRILLE (2011 Onwards) EACH £110.47 B120B0274F
GRILLE for L/H SIDE INTAKE 2011 Onwards EACH £ 169.32 C120B4041J

GRILLE for ENGINE COVER R/H 2011 Onwards EACH £ 4496 A120B4048F
DOUBLE SIDED TAPE, 5 mm, SEALS to CARRIER Grilles to tailgate EACH £2.98 A117B0362V
GRILLE - FRONT L/H 2011 - 2017.5 EACH £64.15 A120B4015F
GRILLE - FRONT R/H 2011 - 2017.5 EACH £64.15 A120B4016F
GRILLE - REAR LOWER L/H (BLACK) EACH £ 98.24 A120B0149F
GRILLE for ENGINE COVER R/H 2011 Onwards EACH £ 44.96 A120B4048F
GRILLE for RH SIDE INTAKE 2011 onwards EACH £ 169.32 C120B4042J

FRONT GRILLE - CENTRE 2017 Onwards - Without Driving lamps EACH £91.42 Al147B0010F

Page 7/32



SJ Sportscars Limited Parts and Accessories Price List

GRILLE - LEAF SCREEN

Grommets

Description

BLANKING GROMMET 6 per car fitted in sills.

Head lamp pods

Description

C SHIM - CLAMSHELL to BODYSIDE (1mm)

Interior trim

Description

SILL MOULDING LOWER R/H - PAINTED

SILL MOULDING LOWER L/H - PAINTED
COVER ASSEMBLY - PASSENGER AIRBAG
KIT - STOWAGE TRAY MATS for L/H/D

MAT - SILL MOULDING POCKET

RUBBER GROMMET AROUND STEERING LOCK
DOOR PULL INSERT R/H

DOOR PULL INSERT L/H

BLACK POP RIVET for STOWAGE NET FIXING
HANDBRAKE GAITER

DIVIDER, TRINKET TRAY

DECAL, GEARSHIFT (6 SPEED)

REAR VIEW MIRROR - 2007 Onwards

CONSOLE/STOWAGE POCKET, BLACK, REAR UPPER

GEAR LEVER GAITER - 111R
POP RIVET - 3/16

TERRY CLIP, TYRE INFLATION CANISTER

SWITCH PANEL (3 Switches) Federal cars with aux. driving

lamps. Common, all models '08 MY on

SWITCH PANEL, 2 LIGHT SWITCH (senosoft, charcoal) L/H

EJOT SCREW -

EJOT EASY FASTENER TUNNEL TRIM FIXING
CENTRE CONSOLE TRIM - LOWER- BLACK
COLUMN COWL - UPPER (SENOSOFT)
HANDBRAKE GAITER-LEATHER

CLIP - GEAR LEVER GAITER to CENTRE COVER

POP RIVET - FRONT TUNNEL COVER to BRACKET

FIXING - FIR TREE FASTENER

PANEL - HEATER CONTROL MOUNTING (Senosoft)

STOWAGE TRAY MAT - CAR SET R/H
SCREW - STOWAGE NET FIXING

EACH

Unit

EACH

Unit

EACH

Unit

EACH
EACH
ASSY
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH
EACH

£4.49

Retail price

£2.07

Retail price

£11.47

Retail price
£109.77
£109.77
£ 234.96

£ 46.13
£ 25.33
£1.75
£4.02
£ 4.02
£0.59
£90.95
£93.14
£ 3.07
£17.50
£ 35.40
£ 68.44
£0.78
£3.45
£12.42

£29.01
£1.08
£0.65
£12.78
£51.79
£73.63
£1.45
£0.99
£1.74
£16.14
£ 28.99

£0.99

A117B0466F

Part number

A100B6163F

Part number

B124B0257F

Part number

A121U4002F
A121U4001F
A121U0176F
A120V0541F
A121V0005K
B100V6061F
Al117B0372F
A117B0371F
A082W6512F
A120VvV0172J

A120U0060F
A120U0063F
A120U6009F
A120U0014F
A120V0001K
A111W6574F
A111W6590F
A121U0091F

A121U0183F
A117F6001F
A117F6000F
A120V0536F
A121U0173F
A120V0414S
A120W6767F
A082W6243F
A116U0200F
A120U0117F
A120V0240F
A117W5277F

Page 8/32



SJ Sportscars Limited Parts and Accessories Price List

GEAR LEVER GAITER - PLAIN BLACK LEATHER EACH £ 63.69 B120V0001K
SILL MOULDING LOWER L/H - NATURAL EACH £96.05 B121UO0119F
PANEL - SWITCH HOUSING (2 SWITCH) EACH £ 20.68 C121UO0037F
TRIM-CENTRE CONSOLE REAR LOWER EACH £12.78 C120U0013F
BEZEL, GEAR LEVER EACH £ 149.53 C120V0415F
RETAINER - HANDBRAKE GAITER EACH £9.56 C138V0219F
GROMMET-SEMI BLIND 35.9MM EACH £1.25 A138W6009F
MOULDING GEAR SHIFT BEZEL 17.5 MY EACH £11.24 A138V0727F
FRONT MOUNTING BRACKET for GEAR LEVER CONSOLE 17.5 MY EACH £ 15.14 A138V0685F
BRACKET - HANDBRAKE CONSOLE ALIGNMENT 17.5MY EACH £ 3.63 A138V0575G
PLATE - GEAR LEVER GAITER BEZEL FIXING 12MY EACH £0.77 A138V0292F
FOAM - SILL MOULDING R/H EACH £17.86 C121U0124F
RETAINING RING for GEARSHIFT GAITER EACH £7.30 A120V0002F
BEZEL - WINDOW LIFT SWITCH - UNFINISHED EACH £25.95 A117U0344J
SILL MOULDING - LOWER R/H (EBONY) EACH £ 93.65 A138V4268F
COVER - FRONT SILL UPPER - BLACK EACH £16.96 A138VO0165F
SWITCH PANEL EACH £13.55 B121U0178F
UPPER COLUMN COWLING (Black) EACH £13.55 C121U0173F
BRACKET - CENTRE CONSOLE REAR EACH £27.12 C120U0028F
PLASTIC RIVET - for TUNNEL TRIM PANEL FIXING EACH £ 2.85 A082W6505F
LOWER STEERING COLUMN COWLING (senosoft, charcoal) EACH £58.95 A121U0172F
BRACKET - SILL MOULDING to CHASSIS EACH £10.75 A121U0033F

Lift out roof panel

Description Unit Retail price Part number
R/H ROOF CLAMP BRACKET EACH £27.76 B116V0178F
Mirrors

Description Unit Retail price Part number

BLANKING PATCH 26mm DIAMETER for DOOR MIRROR FIXINGS EACH £1.05 A116B0399F
BLANKING PLUG for DOOR MIRROR FIXINGS EACH £1.32 A124W6857F
REAR VIEW MIRROR - 2007 Onwards EACH £17.50 A120U6009F
CAP HEAD SCREW M5 x 16 DOOR MIRROR FIXING EACH £0.99 A117W7216F
BLANKING PATCH, EXTERIOR MIRROR HOLE EACH £1.25 A111V0206F
BELLOWS BETWEEN MIRROR BODY and PLINTH EACH £2.73 A111U6032F
DOOR MIRROR GLASS - FLAT EACH £ 38.05 A111U6039F
DOOR MIRROR SPACER EACH £9.06 A120B0339F

Miscellaneous

Description Unit Retail price Part number
NUTPLATE for TOP of TOWING STRUT (2007.5 Model Onwards) EACH £7.24 A120B0203F
COVER - HARDTOP REAR L/H EACH £94.56 A138V4379J
COVER - WIPER MOTOR for L/H/D EACH £ 37.88 B120B0134F

Page 9/32



SJ Sportscars Limited Parts and Accessories Price List

FOAM STRIP METRE £1.60 A036B6221V
COVER - HARDTOP REAR R/H EACH £94.96 A138Vv4380J
BRACKET - HEADLAMP MOUNTING R/H EACH £11.77 A120B4090F
CLAMP - HARDTOP REAR TRIMMED EACH £199.09 A120V0296J
BRACKET - HEADLAMP MOUNTING L/ H EACH £11.77 A120B4089F
STOWAGE NET ASSY (04 MY) EACH £31.69 A117U6011F
WATER SHIELD for HEATER BLENDER FLAP EACH £ 28.88 A117P0158K
BRACKET-FRONT NUMBER PLATE USA EACH £ 45.27 A121U0170F
CUT KEY EACH £18.85 A120H0009S
KEY BLANK -V SHAPED (PFK ALARM 2008 Onwards) EACH £13.50 A120H0008S
KEY BLANK (Not iluminated) EACH £13.19 A120H6002S
PLASTIC NACA DUCT IN REAR DIFFUSER PANEL EACH £4.52 A116A0143F
BRACKET, SIDE IMPACT FOAM to CHASSIS EACH £ 30.61 A117B0556F
NUT PLATE - EXHAUST MOUNTING EACH £ 6.88 A120A0184F
SIDE IMPACT FOAM L/H EACH £58.81 A120B0062F
SIDE IMPACT FOAM R/H EACH £51.45 A120BO063F
MOUNTING STRUT for TOWING EYE (Euro models 2007.5 Onwards) EACH £69.00 SJ120U0001
TENSIONER - SEAT RUNNER (PAIR) PAIR £ 37.42 Al142V0001K
L/H ROOF CLAMP BRACKET EACH £ 25.33 B116VO0177F
R/H HOOK CLAMP for ROOF PANEL for R/H rear of roof panel. EACH £ 20.44 B116V0348J
L/H HOOK CLAMP for ROOF PANEL L/H Rear of roof panel EACH £17.88 B116V0349J
SHEAR PANEL (Under fuel tank) EACH £ 149.96 B120A0065F
HARDTOP STORAGE BAG EACH £ 293.50 LOTACO05316
SILICONE SEALER (CLEAR) (RTV 732) 300ml £13.99 SJ653
BRACKET - DRIVING LAMP to CRASH STRUCTURE R/H EACH £ 21.23 A120M4014F
BRACKET - DRIVING LAMP to CRASH STRUCTURE L/H EACH £22.56 A120M4013F
UPPER MOUNTING BRACKET for REAR MUDGARD (340R Only) EACH £ 19.25 B340B0043F
FOAM BLOCK - BULKHEAD R/H EACH £9.41 A138V4338F
FOAM BLOCK - BULKHEAD UPRER L/H EACH £15.49 A138V4339F
FOAM BLOCK - BULKHEAD UPPER R/H EACH £15.49 A138V4340F
FOOTREST - PASSENGER R/H/D EACH £ 160.37 A120U0008F
COVER - SIDE MARKER HARNESS REAR L/H (USA and Canada) EACH £ 26.82 B121B0027F
BOLT - SEAT RUNNER to SEAT EACH £1.19 A111W7131F
KNURLED KNOB Rear lamp cover retaining EACH £1.73 A120B6059F
TAPE - ANTI SQUEAK METRE £1.51 A132V6050V
DIFFUSER ASSEMBLY - SILVER (2011 - 2017.5) EACH £1,499.58 A120A0159J
REAR UNDERTRAY ASSEMBLY - SILVER EACH £ 598.66 A120A0165J
CLOSURE - SILL UPPER L/H EACH £1.99 A121U0051F
CLOSURE - SILL UPPER R/H EACH £1.99 A121U0052F
Pedal Box
Description Unit Retail price Part number

Page 10/32



SJ Sportscars Limited Parts and Accessories Price List

PIN - CLUTCH PEDAL to PUSH ROD EACH £13.12 A120Q0008H
BRAKE and CLUTCH PEDAL RETURN SPRING EACH £3.09 A120J6006F
CLUTCH POTENTIOMETER EACH £23.18 A132J0107H
BRACKET - CLUTCH POTENTIOMETER and PEDAL DOWN STOP EACH £18.76 A120Q0012F
SCREW - CLUTH POTENTIOMETER to BRACKET EACH £1.32 A126W5320F
FOOTREST - CLUTCH for L/H/D EACH £27.98 A111A0104F
PEDAL PAD EACH £32.85 A120J0014H
Seat Belts
Description Unit Retail price Part number
SEAT BELT (Non explosive) EACH £204.72 A147V0060J
SEAT BELT SPACER - 19mm DIAMETER EACH £12.31 A121W6782F
SPACER - SEATBELT EACH £3.77 A120V6054S
Seats
Description Unit Retail price Part number
STOP, SEAT RUNNER EACH £17.07 A138V0324F
SEAT RUNNER - DRIVERS SIDE + SPRING EACH £ 249.38 A120B0155S
SEAT RUNNER - PASSENGER SIDE for L/H/D EACH £90.17 A120B0169F

Soft top (hood)

Description Unit Retail price Part number

SOFT TOP ASSEMBLY, BLACK (Short type) EACH £1,033.16 A120B0199F
CABLE for SOFT TOP TENSIONING (Centre adjusting) EACH £94.28 C116V0064H
INSERT - ROOF BOW (REAR) EACH £ 4.63 A116B0182F
BRACKET - REAR CANTRAIL R/H EACH £ 3.80 C116B0466F
BRACKET - REAR CANTRAIL L/H EACH £ 3.80 C116B0467F
DOWEL PIN ROOF LATCH PLATES to ROLL OVER BAR EACH £1.08 A116W6659F
SOFT TOP (Black) EACH £1,196.03 C120B0199F
PLASTIC INSERT - ROOF BOW (FRONT L/H) EACH £8.26 A116B0183F
END CAP for CANT RAIL CATCH EACH £2.88 A116V0150H
CABLE - SOFT TOP, SIDE ADJUSTER CABLE EACH £ 63.12 B116V0064H
SOFT TOP SUPPORT STAY EACH £ 31.85 B116VO0095H
SPACER, TRIM/CLAMP PANEL to HEADER RAIL EACH £2.97 B116V0221F
SPACER - ROOF BOW INSERT If fitted EACH £4.28 B117B0480K
BAG-SOFT TOP EACH £ 64.64 A120V0314H
CAP - SOFT TOP PINS - (Set of ) Set of 4 £3.95 A120B0470S
SCREW - CABLES to SOFT TOP EACH £0.99 A111W7150F
BRACKET - CANTRAIL FRONT L/H EACH £13.22 C116B0001F

Spoilers
Description Unit Retail price Part number
NUT- M5 Stainless Steel SPOILER FIXING (Cup models only) EACH £1.66 A704W3000F

Page 11/32



SJ Sportscars Limited Parts and Accessories Price List

SUPPORT REAR WING LOWER R/H CUP MODELS ONLY EACH £ 253.24 A704B4034F
BRACKET - REAR WING UPPER ADJUSTABEL for CUP R EACH £41.11 A704B0O004F
END PLATE - REAR WING, L/H EACH £ 275.00 A138B4553F

Wheel arch liners

Description Unit Retail price Part number

SPIRE NUT No 8 - EACH £0.79 A075W6172F
WHEEL ARCH LINER - L/H FRONT EACH £ 54.29 A120B0415F
WASHER, for WHEEL ARCH LINER FIXINGS EACH £0.99 A111W4159F
SCRIVET FASTNER - 8mm FRONT and REAR WHEEL ARCH LINER FIXING EACH £1.23 A120W6848F
WHEEL ARCH LINER, R/H FRONT, (Elise R/H/D) EACH £76.05 B120B0O004F
WHEEL ARCH LINER, R/H REAR for ELISE EACH £ 86.63 B120BO0030F
R/H WHEEL ARCH LINER, L/H/D for ELISE EACH £62.92 C120B0112F
WHEEL ARCH LINER - L/H FRONT for R/H/D EACH £76.05 C120B0003F
WHEEL ARCH LINER - L/H REAR EACH £75.79 B120B0031F
WHEEL ARCH LINER L/H FRONT for L/H/D EACH £71.91 B120B0O113F
MUDFLAP - FRONT L/H EACH £30.32 D117B0171F
BRACKET for FRONT WHEEL ARCH ACCESS - L/H UPPER EACH £ 6.63 A120B4107F
BRACKET for FRONT WHEEL ARCH ACCESS - R/H UPPER EACH £ 6.63 A120B4108F

Window lift mechanisms

Description Unit Retail price Part number

PLATE - REAR WINDOW CHANNEL ADJUSTER BLOCK to DOOR EACH £12.22 A116B0437F
WINDOW CHANNEL ADJUSTING SCREW EACH £ 13.34 A116U0022F
ADJUSTER BLOCK - WINDOW CHANNELS R/H THREAD EACH £5.60 A116U0021F
ADJUSTER BLOCK - WINDOW CHANNELS L/H THREAD EACH £5.60 A116U0020F
O RING for WINDOW CHANNEL ADJUSTERS EACH £0.65 A116U0023F
L/H FRONT GLASS CHANNEL EACH £ 27.42 C116U0007F
GUIDE RAIL - DOOR GLASS REAR L/H EACH £17.89 D116UOO05F
ELECTRIC WINDOW SWITCH (2004 Onwards) EACH £16.34 SJ117M0003
GLASS CARRIER CHANNEL EACH £ 31.53 B116U0130F
WINDOW LIFT ASSEMBLY - L/H (2004 On) EACH £ 255.49 B117U0389F
WINDOW LIFT ASSEMBLY - R/H (2004 On) EACH £ 255.49 B117U0390F
WINDOW CHANNEL ADJUSTING SCREW (Stainless Steel) EACH £6.90 SJ116U0001
GUIDE RAIL for DOOR GLASS -R/H FRONT EACH £ 27.42 C116U0006F

Windscreens and glass

Description Unit Retail price Part number

R/H DOOR GLASS EACH £167.51 F116B0186F
L/H DOOR GLASS EACH £167.51 F116B0185F
SEAL, TOP OF DOOR to GLASS, L/H EACH £285.10 C117UOO09F
SEAL, TOP of DOOR to GLASS, R/H EACH £285.10 C117U0010F
FRONT WINDSCREEN and TRIM ASSEMBLY EACH £ 1,366.93 A117B0094F

Page 12/32



SJ Sportscars Limited Parts and Accessories Price List

REAR GLASS (Bonded to bulkhead)

THIN NYLOC NUT M6 door glass to lift channel.
WINDSCREEN FRAME

DOOR GLASS L/H

Books

Other

Description

EVO MAGAZINE

MAINTAINENCE RECORD BOOK
THE LOTUS FILE (William Taylor)
HANDBOOK HOLDER/COVER

Braking

ABS components

Description
SHIM/BRACKET for ABS CONNECTOR - R/H 1 mm
SHIM/BRACKET for ABS CONNECTOR - L/H 1 mm

Brake pads

Description

REAR PAD RETAINING PIN and SPRING SET

Calliper pistons

Description

REAR CALIPER PISTON (Brembro)

Calliper repair parts

Description

REAR CALIPER SLIDING PIN KIT (For brembro calipers)
REAR PAD RETAINING PIN and SPRING SET

BLEED SCREW RUBBER CAP

BLEED SCREW, FRONT CALIPER

Callipers

Description

FLAT WASHER - M10 For upper rear caliper bolts
L/H REAR BRAKE CALIPER

R/H REAR BRAKE CALIPER

EACH £81.09
EACH £0.56

EACH £ 2,019.59

EACH £175.88
Unit Retail price
EACH £1.50
EACH £7.32
EACH £33.33
EACH £31.23
Unit Retail price
EACH £5.17
EACH £5.30
Unit Retail price

AXLE SET £9.89

Unit Retail price
EACH £18.90
Unit Retail price

PER SIDE £11.50

AXLE SET £9.89

EACH £0.39
EACH £0.65
Unit Retail price
EACH £0.25
EACH £ 345.30
EACH £ 375.00

A117B0138F
A907E6285F
A120B0217K
G116B0185F

Part number
LOT70M0027
B120T0324M
LOTMCO0063
LOTAC05582

Part number
C116C0012F
C116C0013F

Part number

SJ082J0077

Part number

SJ082J0073

Part number
SJ082J0057
$J082J0077
SJ089J0016
SJ111J0017

Part number
A075W4024z
B116J0081S
B116J0082S

Page 13/32



SJ Sportscars Limited Parts and Accessories Price List

REAR CALIPER, R/H (Brembro) (Reconditioned) Exchange £ 149.85 SJ082J0044
REAR CALIPER, L/H (Brembro) (Reconditioned) Exchange £ 149.85 SJ082J0062
Discs
Description Unit Retail price Part number
SCREW - BRAKE DISC to HUB EACH £0.95 A918W7120F
Handbrake cables and linkages
Description Unit Retail price Part number
HANDBRAKE CABLE - LEVER to COMPENSATOR EACH £101.52 B120JO005H
HANDBRAKE GAITER EACH £90.95 A120V0172J
HANDBRAKE CABLE (Wheel to wheel) EACH £59.41 A120J0039F
HANDBRAKE CABLE (Wheel to wheel) EACH £38.90 SJ120J0001
HANDBRAKE LAMP MICROSWITCH EACH £49.15 A13236060S
FOAM ANTI - RATTLE PAD for HANDBRAKE CABLES EACH £2.80 SJ829
GEARCHANGE and HANDBRAKE UNIT (6 Speed 1ZR) L/H/D EACH £1,089.60 B120F4003F
Hoses and pipes
Description Unit Retail price Part number
PIPE - ABS UNIT to FRONT L/H HOSE for L/H/D EACH £ 37.83 B116J0019F
BRAKE HOSE LOCK NUT M10 x 1 (THIN NUT) EACH £0.33 A075J6017Z
M10 x Imm MALE BRAKE PIPE NUT (Standard length) EACH £0.29 SJ847
BRAKE PIPE - ABS UNIT to SILL R/H SILL PIPE for R/H/D EACH £ 8.64 B116J0020F
SINGLE BRAKE PIPE CLIP EACH £0.99 A116W6700F
PIPE - ABS UNIT to L/H SILL for L/H/D EACH £17.51 B116J0023F
PIPE - ABS UNIT to R/H SILL for L/H/D EACH £ 23.33 B116J0022F
Pad fittings
Description Unit Retail price Part number
FRONT BRAKE PAD RETAINING PIN EACH £5.78 B111J0123H
REAR PAD RETAINING PIN and SPRING SET AXLE SET £9.89 SJ082J0077
Servo's
Description Unit Retail price Part number
HOSE THROTTLE BODY/CHECK VALVE EACH £32.91 A120J0008K
VACUUM HOSE - SERVO tO CHECK VALVE EACH £29.25 B116J6038F
Chassis
Chassis components
Description Unit Retail price Part number
L/H ALLOY PLATE for LOWER CRASH STRUCTURE MOUNTING EACH £ 14.25 A111B0531F
SPACING WASHER for REAR SUBFRAME BOLTS EACH £ 0.55 A075W4028Z

Page 14/32



SJ Sportscars Limited Parts and Accessories Price List

BRACKET - LOWER WISHBONE to CHASSIS L/H EACH £76.52 C120D0023F

M10 NYLOCK NUT LOWER WISHBONE BRACKET to CHASSIS EACH £1.00 A100W3112F

R/H ALLOY PLATE for LOWER CRASH STRUCTURE MOUNTING EACH £16.73 Al111B0530F

THIN M8 NYLOCK NUT (T Type) Shear panel fixing EACH £0.69 A907E6284F

REAR SUBFRAME EACH £ 1,347.21 B120A0176F

FOAM - SILL MOULDING R/H EACH £17.86 C121U0124F
Clutch

Center plates

Description Unit Retail price Part number

CENTRE PLATE - 1ZR 2011 Onwards (non-Lotus) EACH £79.89 SJ120Q0015

CLUTCH CENTRE PLATE EACH £ 140.48 A120F0043F
Hoses

Description Unit Retail price Part number

HOSE - RESERVOIR to CLUTCH MASTER CYLINDER EACH £9.38 A120J0089S

Hydraulic components

Description Unit Retail price Part number

CLUTCH RELEASE BEARING/HYDRAULIC CYLINDER (Non-Lotus) EACH £79.68 SJ120Q0002
CLUTCH RELEASE BEARING/HYDRAULIC CYLINDER (Non-Lotus) EACH £79.68 SJ120Q0002
CLUTCH HOSE EACH £31.71 A116Q0016F
CLUTCH MASTER CYLINDER EACH £90.88 A120Q0007H
CLIP - OETIKER 13 EACH £1.08 A124W6818F
QUICK CONNECTOR - CLUTCH PIPE EACH £17.17 A116Q6001F
CLUTCH SLAVE CYLINDER EACH £ 46.97 SJ120Q6011

Miscellaneous

Description Unit Retail price Part number
CLUTCH ALIGNING TOOL KIT £17.75 SJ853
PIN - CLUTCH PEDAL to PUSH ROD EACH £13.12 A120Q0008H

Pressure plates

Description Unit Retail price Part number
CLUTCH PRESSURE PLATE 2ZR engine. EACH £98.00 A120F0034F
PRESSURE PLATE - 1ZR 2011 Onwards (non-Lotus) EACH £ 78.00 SJ120Q0003

Release bearings

Description Unit Retail price Part number
CLUTCH RELEASE BEARING/HYDRAULIC CYLINDER (Non-Lotus) EACH £79.68 SJ120Q0002
CLUTCH RELEASE BEARING/HYDRAULIC CYLINDER (Non-Lotus) EACH £79.68 SJ120Q0002

Three piece clutch kits

Page 15/32



SJ Sportscars Limited Parts and Accessories Price List

Description Unit Retail price Part number

3 PIECE CLUTCH KIT 1ZR 2011 Onwards KIT £ 220.00 SJ120Q0004

Competition, Modification and Accessories

Accessories

Description Unit Retail price Part number
ADHESIVE LOTUS LOGO, 280mm EACH £5.62 LOTDS00003
TOUCH UP PAINT (Lightning yellow B83) EACH £ 8.50 A082B6384F
TOUCH UP PAINT (Magnetic Blue) B100 EACH £ 8.75 A082B6410F
TOUCH UP PAINT (Blue Mica B104) EACH £7.50 A082B6414F
MODEL LOTUS 19 - 1/48 SCALE EACH £ 38.40 9580006902580
ELISE DUST COVER EACH £ 293.24 LOTACO00080
TOUCH UP STICK (Aspen white B113) EACH £ 851 A120B6028S
CUP HOLDER ASSEMBLY EACH £ 239.27 B120U0065J
ALARM CONTROLLER + 2 KEY FOBS (PFK 2008 Models onwards) KIT £167.35 A132MO0117F
HARDTOP STORAGE BAG EACH £293.50 LOTACO05316
LAPEL BADGE-OLD GREEN/YELLOW EACH £17.11 LOTPR00450
LAPEL BADGE - BLACK and SILVER EACH £19.78 LOTPR00451
LOTUS KEY RING EACH £7.32 LOTPRO0500
LAPEL BADGE-GREEN/YELLOW EACH £10.92 LOTPR05229
WD40 200ML AEROSOL 200ML £4.99 WD40

TOUCH UP PAINT (Solar Yellow) B114 EACH £18.12 B120B6029S
TOUCH UP PAINT (lce white B129) KIT £10.50 A120B6049S
THERMAL BOTTLE EACH £10.99 LOTACO05577
EMIRA SCALE MODEL 1/18 EACH £91.67 LOTMCO0039BL
LOTUS SKI JACKET SIZE SMALL EACH £35.00 LOTCL05648
ADHESIVE LOTUS LOGO, 200mm EACH £8.71 LOTDS00005
SHOULDER PAD - RED EACH £6.96 LOTACO05125
TOUCH UP PAINT (Starlight Black Metalic B93) EACH £10.00 B082B6402F
TOUCH UP PAINT (Starlight Black Metalic B93) EACH £10.00 B082B6402F
HANDBOOK HOLDER/COVER EACH £ 31.23 LOTACO05582
LOTUS EMIRA MODEL SHADOW GREY EACH £ 45.83 LOTMCO0035SGY

Lotus official merchandise

Description Unit Retail price Part number
LOTUS KEY RING EACH £7.32 LOTPRO0500
MENS POLO - GREY (MEDIUM) EACH £25.50 LOTMCO0001GY2
MENS POLO - GREY (XXL) EACH £25.50 LOTMCO0001GY5
MENS POLO - GREY (LARGE) EACH £25.50 LOTMCO0001GY3
MENS TEE - GREEN (LARGE) EACH £23.00 LOTMCO0002GN3

Page 16/32



SJ Sportscars Limited Parts and Accessories Price List

EMIRA SCALE MODEL 1/43 N GREY EACH £45.83 LOTMCOO035NGY

Performance up-grades

Description Unit Retail price Part number
ITG PERFORMANCE AIR FITLER EACH £39.87 SJ120E0008
ITG PERFORMANCE AIR FILTER for TRD AIR BOXES EACH £59.80 SJ128E0001

Suspension and brakes

Description Unit Retail price Part number
FRONT BRAKE PAD SET (FERODO 2500 fast road Compound) SET £140.92 SJ111J0014
REAR BRAKE PAD SET (FERODO 2500 fast road Compound) SET £160.00 SJ111J0015
GOODRIDGE BRAKE LINE SET SET of 4 £80.00 SJ111J0016
Tools

Description Unit Retail price Part number
CLUTCH ALIGNING TOOL KIT £17.75 SJ853

SPANNER, DAMPER ADJUST EACH £ 36.94 A120C6001F
TOOL KIT KIT £15.62 A120TOO005F
OIL FILTER REMOVAL TOOL for 2272 EACH £17.80 SJ120E0003
HANGER NO: 2 ENGINE EACH £20.11 A120E7130S
HANGER NO: 1 ENGINE EACH £20.11 A120E7129S
ALLEN KEY (Part of vehicle tool kit) EACH £1.54 A117T6001H
LIGHT WEIGHT JACK KIT with SPACER - ELISE and EXIGE The lowest the jack platform goes is KIT £100.00 SJ138T0001

8cm from the ground.

OIL FILTER TOOL (1.6 and 3.5V6) Use this for 1ZR and 2GR-FE Engines EACH £17.88 SJ120E0010
ALLEN KEY 3MM X 63MM EACH £2.04 A117T6002H
BALL DRIVER - 4AMM HEXAGON EACH £4.65 A120T6005F

Cooling system

Fan blades, motors and switches

Description Unit Retail price Part number

RADIATIOR FAN Two fitted EACH £93.95 Al111M6070S

Header tanks and Expansion Bottles

Description Unit Retail price Part number

RADIATOR CAP EACH £ 37.06 A120E6341S

HEADER TANK EACH £ 303.66 A120K6005S

LABEL - OAT ANTIFREEZE EACH £2.97 Al117K6002F
Hoses

Description Unit Retail price Part number

RADIATOR HOSE - R/H SIDE Includes bleed valve EACH £ 38.97 B117K0008F

Page 17/32



SJ Sportscars Limited Parts and Accessories Price List

HOSE CLIPS (St/Steel) Various sizes. EACH £0.65 H/CLIP

HOSE - RADIATOR L/H Up to Vin RHD LH_10071, LHD LH_10079 EACH £ 22.26 Al117KO0015F

Miscellaneous

Description Unit Retail price Part number
BOLT - M8 x 16 FLANGE HEAD BRACKETS to RADIATOR and HOUSING EACH £0.99 A117W2202F
SPIRE NUT, FRONT SPOILER to BODY EACH £0.75 A117W6697F
O AT TYPE ANTI FREEZE (All models 2001 onwards) LITRE £3.89 SJ117E0009

Oil coolers and plumbing

Description Unit Retail price Part number
THIN M8 NYLOCK NUT (T Type) for single oil cooler mounting EACH £0.69 A907E6284F
L/H OIL COOLER MOUNTING BRACKET EACH £21.48 A120A0131F
R/H OIL COOLER MOUNTING BRACKET EACH £21.48 A120A0132F
MOUNTING BUSH forAUXILLARY RADIATOR EACH £1.91 A132K6005F

Radiator ducts blanking foam etc

Description Unit Retail price Part number

SPREADER PLATE - REAR BRACKET to RADIATOR SURROUND EACH £10.99 Al17PO117F

Radiators and fittings

Description Unit Retail price Part number

FIXING SCREW for Radiator housing to crash structure EACH £0.70 A082W7173F
RADIATOR SURROUND - 2011 Onwards Up to Vin RHD LH_10071, LHD LH_10079 EACH £ 236.10 C120B0290F
BRACKET - REAR of RADIATOR to DUCT EACH £22.11 A117KO006F
ALLOY RADIATOR (With A/C Fitted) EACH £234.00 SJ117K0003
RADIATOR - ELISE AC (BLACK) Up to Vin RHD LH_10071, LHD LH_10079 EACH £ 469.26 C117K0021F
FRONT RADIATOR MOUNTING BRACKET EACH £22.80 Al117KOO005F
RADIATOR FAN MOUNTING BRACKET EACH £ 23.28 Al117KO0025F

Thermostat
Description Unit Retail price Part number
THERMOSTAT with SEAL EACH £29.70 SJ120E0009

Water pump and repair parts

Description Unit Retail price Part number

COOLING SYSTEM RECIRCULATION PUMP EACH £101.42 A117K0013F

Electrical systems

Alternators, dynamos and drive belts

Description Unit Retail price Part number

AUXILLARY DRIVE BELT for 2ZR with AIR CONDITIONING EACH £23.50 SJ120E6582

Page 18/32



SJ Sportscars Limited Parts and Accessories Price List

BRACKET, ALTERNATOR TENSIONER EACH £29.81 A120E0168F

Battery box

Description Unit Retail price Part number
CLAMP-BATTERY INBOARD EACH £7.78 A120MO0014F
BATTERY COVER / HANDBOOK HOLDER EACH £114.18 D120UO033F
COVER - BATTERY +ve TERMINAL EACH £5.67 A120M6035S
THIN M8 NYLOCK NUT (T Type) Battery fixing EACH £0.69 A907E6284F
Fuse box
Description Unit Retail price Part number
FUSE 2amp GREY EACH £11.52 A082M6316F
BUTTON HEAD SCREW - Fuse box fixing EACH £1.08 A116W5281F
FUSE BOX COVER EACH £20.00 A111M6115S
LID for ENGINE BAY FUSE BOX EACH £23.71 A120M6052S
Instruments
Description Unit Retail price Part number
SWITCH - OIL PRESSURE EACH £ 46.95 A132E6297S
Lamps
Description Unit Retail price Part number
BRACKET - HEADLAMP MOUNTING R/H EACH £11.77 A120B4090F
PLINTH - SIDE MARKER L/H EACH £7.91 A121B0043F
PLINTH - SIDE MARKER LAMP R/H EACH £7.91 A121B0042F
SIDE REPEATER LAMP - R/H EACH £ 56.56 A120M4006F
SCREW, DRIVING LAMP BRACKET to CRASH STRUCTURE EACH £1.19 A100W1100F
BRACKET - HEADLAMP MOUNTING L/ H EACH £11.77 A120B4089F
SIDE MARKER LAMP REAR L/H EACH £112.37 B121MO011F
LAMP SIDE REPEATER - L/H EACH £ 56.56 A120M4005F
NUMBER PLATE LAMP EACH £12.25 A117M6028F
DRIVING LAMP eleptical lens, 80mm wide EACH £ 114.93 A340M6005F
REAR LAMP OUTER (LED Type 2006 ON) EACH £307.80 C120MO0034F
REAR LAMP INNER (LED) (USA Models 2006 Onwards) EACH £ 255.16 C121MO029F
DRIVING LAMP (80 mm Eleptical) EACH £49.41 SJ0340M0001
HEADLAMP BULB for DIPPED BEAM EACH £9.80 SJ142M0001
HEADLAMP BULB for DIPPED BEAM EACH £ 39.74 A142M6003F
BRACKET - DRIVING LAMP to CRASH STRUCTURE R/H EACH £21.23 A120M4014F
BRACKET - DRIVING LAMP to CRASH STRUCTURE L/H EACH £ 22.56 A120M4013F
SIDE MARKER LAMP - R/H FRONT For USA and Canada only EACH £120.40 B121MOOO08F
SIDE MARKER LAMP - FRONT L/H (USA and Canada) EACH £120.40 B121MOOO09F
COVER - SIDE MARKER HARNESS REAR L/H (USA and Canada) EACH £ 26.82 B121B0027F
BULB 12v 16w INDICATOR and REVERSE EACH £7.84 A120M6029S

Page 19/32



SJ Sportscars Limited Parts and Accessories Price List

MOULDING - NUMBER PLATE LAMP EACH £ 9.68 D132U0400F
C SHIM - CLAMSHELL to BODYSIDE (1mm) EACH £11.47 B124B0257F
KNURLED KNOB Rear lamp cover retaining EACH £1.73 A120B6059F
C SHIM - CLAMSHELL to BODYSIDE (3 mm) EACH £11.22 Al124B0255F
HEADLAMP ASSEMBLY - L/H for L/H/D EUROPE (White) EACH £ 2,300.00 C120M4003F
HEADLAMP ASSEMBLY - R/H for L/H/D EUROPE (White) EACH £ 2,300.00 C120M4004F
DRIVING LAMP BRACKET, (Screwed to crash structure) EACH £13.69 SJ117M0005
DRIVING LAMP BRACKET (LAMP to MOUNTING BRACKET) EACH £15.67 SJ117M0006
DRIVING LAMP (Roound) EACH £ 38.18 A120M6060F

Miscellaneous

Description Unit Retail price Part number

CENTRAL DOOR LOCKING ACTUATOR EACH £ 24.22 A138MO0087F
ALARM SIREN - EARLY - (PFK) EACH £92.87 A132M6082F
ALARM FOB EACH £67.31 A120MO0049F
SCREW M4 x 12 PAN HEAD SWITCH CONTROLLER FIXING EACH £0.99 A100W5143F
BRACKET for MOUNTING ALARM SWITCH EACH £8.64 A120B0127F
ALARM CONTROLLER + 2 KEY FOBS (PFK 2008 Models onwards) KIT £167.35 A132MO0117F
MODULE - CENTRAL LOCKING (PFK) (2008 Onwards) EACH £ 32.46 A132M0118F
ROTARY CONTACT - AIRBAG EACH £211.12 A120M6010S
ANTENNA-DI POLE (ANALOGUE) EACH £17.72 A120MO018F
SPEAKER - FRONT 10cm Speaker only no Grille EACH £ 26.58 A120MO0093F
TEMPERATURE SENSOR for ENGINE MANAGEMENT EACH £ 68.64 A132E6258S

Relays

Description Unit Retail price Part number

FLASHER MODULE - USA with LED LAMPS 2011 ONWARDS EACH £104.39 A121MO060F
SWITCH PACK EACH £126.82 E117MO008F
RELAY - SINGLE CONTACT Incorporated into main harness - 1ZR, 2ZR Bosch ABS EACH £11.23 A132M6002F

Switches

Description Unit Retail price Part number

STARTER BUTTON EACH £51.55 A121M0026S
ENGINE START BUTTON EACH £99.80 B121MO0018F
HANDBRAKE LAMP MICROSWITCH EACH £ 49.15 A13236060S

SWITCH, TRACTION CONTROL EACH £75.39 A120MO0031F
DECAL - REAR FOG LAMP for R/H/D EACH £3.82 A117MO007F
SWITCH PANEL- BLUE LED EACH £74.65 A117MO0026F
COLUMN SWITCH - CRUISE CONTROL EACH £54.30 A126M6010F
INDICATOR/DIP SWITCH EACH £ 30.82 A100M6048F
WASH/WIPE SWITCH EACH £21.12 A100M6049F
BRAKE LIGHT SWITCH EACH £22.50 Al116J6034F

DECAL, SIDELAMP SWITCH EACH £6.68 A117MOO005F

Page 20/32



SJ Sportscars Limited Parts and Accessories Price List

DECAL, HEADLAMP SWITCH for R/H/D EACH £9.98 A117MO006F
ELECTRIC WINDOW SWITCH (2004 Onwards) EACH £16.34 SJ117M0003
HAZARD WARNING LAMP SWITCH EACH £ 46.47 A340M6016F
SWITCH, PANEL DIMMER (not LED) EACH £ 69.44 B117MO0048F
SWITCH PANEL LAMP - YELLOW LED EACH £41.81 A117MO056F
DECAL - HEADLAMP GRAPHIC for L/H/D EACH £3.56 A117MO0045F
DECAL - REAR FOG GRAPHIC for L/H/D EACH £4.13 A117M0046F
BEZEL - WINDOW LIFT SWITCH - UNFINISHED EACH £25.95 A117U0344J
KNOB - ILLUMINATED for CLIMATE CONTROL EACH £21.19 A120U0091F

Windscreen washers and wipers

Description Unit Retail price Part number
WIPER BLADE EACH £13.99 SJ120M0001
WASHER BOTTLE and PUMP ASSEMBLY EACH £ 30.00 A120M6058F
WIPER MOTOR for L/H/D EACH £167.82 B117M0103F
COVER - WIPER MOTOR for L/H/D EACH £ 37.88 B120B0134F
WIPER ARM and BLADE ASSEMBLY EACH £51.55 C121B0057F
LINK HARNESS - WASHER BOTTLE EACH £48.11 A120M0090S
PLATE - WASHER BOTTLE BRACKET EACH £ 23.18 A120P0197F
WIPER DELAY MODULE EACH £54.08 A082M6457F
WIPER MOTOR ASSEMBLY for R/H/D ASSY £159.82 A117MO0104F
WASHER JET EACH £ 3.64 A120W6796F
WIPER MOTOR R/H/D EACH £167.82 B117M0104F
GROMMET - WASHER PUMP EACH £4.38 A132U6117H
Wiring loom
Description Unit Retail price Part number
LINK HARNESS - WASHER BOTTLE EACH £48.11 A120M0090S
HARNESS for ENGINE START EACH £48.29 A121M0027S
Engine

Engine electrics

Description Unit Retail price Part number
MASS AIR FLOW SENSOR EACH £ 218.46 A120E6299S
BRACKET, ALTERNATOR TENSIONER EACH £29.81 A120E0168F
KNOCK SENSOR EACH £79.00 SJ132E0006
SENSOR, KNOCK CONTROL EACH £ 238.17 Al132E6298S
AUXILLARY DRIVE BELT (1ZR Engine 2011 Onwards with A/C) EACH £104.82 A120E7264S
T6 ENGINE CONTROLLER EACH £1,199.67 B132E0008F
SPARK PLUG-2ZR EACH £5.75 A120E0157F
TEMPERATURE SENSOR for ENGINE MANAGEMENT EACH £ 68.64 Al132E6258S

Page 21/32



SJ Sportscars Limited Parts and Accessories Price List

SWITCH - OIL PRESSURE EACH £46.95 A132E6297S

Miscellaneous

Description Unit Retail price Part number
T PIECE - For vacuum pipes on manifold vacuum switching EACH £1.61 A082J6089F
BRACKET, ALTERNATOR TENSIONER EACH £29.81 A120E0168F
BY-PASS ACTUATOR VALVE EACH £ 196.64 A120E6513S
OIL FILL KIT for SUPERCHARGER KIT £61.73 Al128E6014S
ENGINE OIL, (Shell Helix Ultra) 5W/40 (5 Litre) 5 LITRE £45.00 SJ726
ENGINE OIL, (Shell Helix Ultra) 5W/40 (1 Litre) 1Ltr £10.89 SJ725
LOCTITE (NUT LOCK) 50ml £29.48 SJ649
ISOLATOR for COSMETIC ENGINE COVER CATCH and LATCH COVER EACH £ 3.99 B120B0291F

Mountings /engine

Description Unit Retail price Part number
L/H ENGINE/GEARBOX MOUNTING EACH £161.30 A120E6397S
BRACKET, ENGINE MOUNTING to CHASSIS L/H EACH £132.76 A120A0059F
FRONT ENGINE MOUNTING EACH £ 435.78 A120A0099J
BOLT - Engine mountings EACH £1.20 A120E6390S
Oll filters
Description Unit Retail price Part number
OIL FILTER ELEMENT KIT for 1.6 1ZR Elise EACH £8.00 A120E7102S
OIL FILTER for ELISE 2ZR Engine EACH £5.45 SJ131E0002
OIL FILTER REMOVAL TOOL EACH £17.80 SJ120E0003
OIL FILTER TOOL (1.6 and 3.5V6) Use this for 1ZR and 2GR-FE Engines EACH £17.88 SJ120E0010
Pistons
Description Unit Retail price Part number
PISTON ASSEMBLY - 2ZR EACH £ 145.92 Al120E6601S

Studs, nuts and bolts

Description Unit Retail price Part number

BOLT, for BY-PASS ACTUATOR EACH £1.19 A128E6019S

WASHER PLATE EACH £1.40 A120E6121S
Sump parts

Description Unit Retail price Part number

SUMP PLUG WASHER EACH £1.10 A120E6461S
V Belts

Description Unit Retail price Part number

AUXILLARY DRIVE BELT for 2ZR with AIR CONDITIONING EACH £ 23.50 SJ120E6582

Page 22/32



SJ Sportscars Limited Parts and Accessories Price List

Exhausts

Exhaust hardware

Description

OXYGEN SENSOR

NUT PLATE - EXHAUST MOUNTING
CLIP - EXHAUST HANGER

CONE SEAL - CATALYST to MANIFOLD

Genuine exhaust parts

Description
DOWNPIPE/CATALYST ASSEMBLY
DOWNPIPE and CATALYST

Heatshields

Description
BOLT, HEAT SHIELDS to U BEND
WASHER - BLACK HEATSHIELD FIXING

WASHER - BLACK BOOTBOX HEATSHIELD FIXING

Final drive

Bearings

Description
R/H DIFFERENCIAL BEARING

L/H DIFFERENCIAL BEARING

Drive shafts

Description

DRIVESHAFT NUT (CASTELLATED)

GREASE for CONSTANT VELOCITY JOINTS

DRIVESHAFT ASSEMBLY L/H

Front suspension

Adjustment shims

Description
CASTER ADJUSTING SHIM - 1.5 mm
CAMBER ADJUSTING SHIM 3mm

Anti roll bar

Description

Unit

EACH
EACH
EACH

EACH

Unit

Retail price
£ 54.85
£6.88
£8.93

£ 8.96

Retail price

ASSEMBLYE 1,301.84

EACH

Unit

EACH
EACH
EACH

Unit
EACH

EACH

Unit
EACH
EACH

ASSY

Unit
EACH
EACH

Unit

£800.00

Retail price
£0.42
£0.65
£0.65

Retail price
£70.49

£ 78.87

Retail price
£14.71
£2.95

£340.10

Retail price
£7.77
£ 6.58

Retail price

Part number
SJ117E0002
A120A0184F
A117S0049F
SJ120E0007

Part number
D120S0002F
B120S0036F

Part number

AQ075W1026Z
A082W4098F
A082W4098F

Part number
A120F7197S
A120F7198S

Part number
A116D6001F
SJ854

B120D4003F

Part number
A111CO0080F
D111C0064F

Part number

Page 23/32



SJ Sportscars Limited Parts and Accessories Price List

BUSH for ADJUSTABLE ANTI ROLL BAR (2007 Model onwards) EACH £27.20 A120C6002F
ANTI ROLL BAR DROP LINK EACH £89.55 A111CO0063F
ANTI ROLL BAR (Standard) EACH £151.97 A120C0023F
ANTI ROLL BAR DROP LINK (non lotus) EACH £9.76 SJ111C0011
ANTI ROLL BAR BUSH Standard anti roll bars only EACH £ 13.95 A111C0094F
SCREW - ANTI ROLL BAR CLAMP to CHASSIS EACH £0.99 A117W7215F
Ball joints

Description Unit Retail price Part number

ANTI ROLL BAR DROP LINK EACH £89.55 A111C0063F
NYLOCK NUT for LOWER BALL JOINTS and TCA PIVOT BOLTS Top and bottom ball joints. EACH £0.52 A100C6019F
BALL JOINT (Top and bottom) EACH £13.50 SJ111C0003
ANTI ROLL BAR DROP LINK (non lotus) EACH £9.76 SJ111C0011
BALL JOINT SUSPENSION EACH £43.60 B111C6012F

Bolts and Studs and nuts

Description Unit Retail price Part number
BOLT - M10 x 75 (Bell housing) Rear fixing for upper wishbones EACH £ 3.55 A075W2059Z
BOLT - Front lower wishbone to chassis EACH £0.89 A079W2063F
BOLT, TOP BALL JOINT CARRIER to UPRIGHT (40 mm) EACH £1.61 A117W7211F
BOLT, TOP BALL JOINT CARRIER to UPRIGHT (60 mm) EACH £2.01 A117W7213F
BOLT M12 - HUB CARRIER TO UPRIGHT (6 per car) EACH £1.42 A116W2192F
DAMPER BOLT Bottom bolt. EACH £0.51 SJ111C0006
M10 NYLOCK NUT EACH £0.23 SJ501
Bushes

Description Unit Retail price Part number
BUSH for ADJUSTABLE ANTI ROLL BAR (2007 Model onwards) EACH £27.20 A120C6002F
WISHBONE BUSH (Front upper, rear position) 2 per car. EACH £ 24.88 A116C0035F
ANTI ROLL BAR BUSH Standard anti roll bars only EACH £13.95 A111C0094F

Dampers (adjustable)

Description Unit Retail price Part number
SPANNER, DAMPER ADJUST EACH £ 36.94 A120C6001F
DAMPER BOLT Bottom bolt. EACH £0.51 SJ111C0006

Dampers (standard)

Description Unit Retail price Part number

FRONT SPRING/DAMPER ASSEMBLY ASSEMBLY £ 370.74 A120CO0005F
FRONT DAMPER, ELISE 2004 Onwards EACH £ 275.85 A120C0007H
COLLAR/SPRING CLIP SET SET £43.66 A120C6003S
FRONT DAMPER, EACH £ 275.85 A122C0007H
DAMPER BOLT Bottom bolt. EACH £0.51 SJ111C0006
LOWER SPRING COLLAR for BILSTEIN DAMPERS EACH £24.50 SJ713

Page 24/32



SJ Sportscars Limited Parts and Accessories Price List

STOP WASHER REPLACEMENT KIT

TOP DAMPER and ABS UNIT MOUNTING, L/H

Hubs and Bearings

Description
HUB/BEARING (With wheel speed sensor)

HUB/BEARING (With wheel speed sensor) (non-Lotus)

Vertical links

Description
L/H FRONT UPRIGHT (Forged steel type)
R/H FRONT UPRIGHT (Forged steel type)

Wishbones and lower links

Description

M10 NYLOCK NUT for LOWER WISHBONE PIVOT BOLTS
WISHBONE BUSH (Front upper, rear position) 2 per car.

TOP WISHBONE, L/H FRONT (inc ball joint and bushes)

TOP WISHBONE, R/H FRONT (inc ball joint and bushes)

LOWER WISHBONE, R/H FRONT (inc BALL JOINT & BUSHES)
LOWER WISHBONE, L/H FRONT (inc BALL JOINT and BUSHES)

BALL JOINT (Top and bottom)

Fuel system

Air filter, casings and elements

Description

AIR FILTER (TOYOTA ENGINE)

PLASTIC RIVET - Air intake snorkel to airbox
PERFORMANCE AIR FILTER for CUP MODELS
PERFORMANCE AIR FILTER for CUP MODELS (SJ Sports)
AIR FILTER (Standard)

AIR CLEANER ASSEMBLY (2ZR)

ITG PERFORMANCE AIR FITLER

ITG PERFORMANCE AIR FILTER for TRD AIR BOXES
SPORT AIR FILTER for TOYOTA ENGINE

Filler caps

Description

SCREW, FILLER NECK to CLAMSHELL (Set of Eight)

LOCK BARREL and KEY - FUEL CAP Master keys with handle, Keys A117L6050S
are L-code, lock set required for

D-code*

KIT
EACH

Unit
EACH
EACH

Unit
EACH
EACH

Unit

EACH
EACH
EACH
EACH
EACH
EACH
EACH

Unit

EACH
EACH
EACH
EACH
EACH

£67.00

£ 63.49

Retail price
£188.71

£ 48.50

Retail price
£ 185.22
£ 185.22

Retail price
£1.00

£ 24.88

£ 268.72

£ 268.72

£ 328.50

£ 328.50
£13.50

Retail price
£10.60
£0.76
£53.86

£ 28.45

£7.60

ASSEMBLY £ 666.01

EACH
EACH
EACH

Unit
Setof 8
EACH

£39.87
£59.80
£ 145.67

Retail price
£5.17
£ 89.89

TOOOT1531F
C116CO0011F

Part number
A117D6005F
SJ117D0004

Part number
A116CO001F
A116C0002F

Part number

A100W3112F
Al116CO0035F
A117C0029J
A117C0030J
A117C0034J
A117C0035J
SJ111C0003

Part number
A120E6385S
A082W6528F
A127E6003F
SJ127E0001
SJ120E0002
A120E6383S
SJ120E0008
SJ128E0001
ALS3E6020F

Part number
Al117L6033F
A117L6050S

Page 25/32



SJ Sportscars Limited Parts and Accessories Price List

HOSE - FUEL FILLER EACH £ 105.56 A117L0060F

GASKET - FILLER RING to BODY EACH £6.69 B117L0026F

O RING - FILLER NECK/ADAPTOR EACH £8.14 Al117L6005F
Fuel filters

Description Unit Retail price Part number

FUEL FILTER EACH £61.55 A120L6007S

SPACER-FUEL PUMP EACH £1.55 A120L6004S

Fuel injection

Description Unit Retail price Part number
ADAPTOR - INJECTOR For 2ZR EACH £41.58 A120E0124F
FUEL PRESSURE REGULATOR (Toyota engine) EACH £159.39 A120E6413S
OXYGEN SENSOR Two per car. EACH £54.85 SJ117E0002
KNOCK SENSOR EACH £79.00 SJ132E0006
TEMPERATURE SENSOR for ENGINE MANAGEMENT EACH £ 68.64 Al132E6258S

Fuel lines/hoses

Description Unit Retail price Part number
DOUBLE CLIP - FUEL PIPE RETENTION EACH £4.77 A116W6727F
PIPE - QUICK CONNECTOR to TANK EACH £123.76 A120L0043F
Fuel pumps
Description Unit Retail price Part number
PLATE SUB ASSEMBLY - FUEL PUMP HOUSING EACH £96.13 A120L6008S
SEAL - FUEL PUMP FILTER EACH £1.33 A120L6005S
SEALING RING, FUEL PUMP to TANK EACH £ 22.25 A120L6009S
CLAMPING RING for FUEL PUMP EACH £ 36.78 A120L0013H

Gauge sender units

Description Unit Retail price Part number

FUEL LEVEL SENDER UNIT EACH £ 168.65 A120L0071H

Petrol tanks

Description Unit Retail price Part number
SCREW, M8 x 20, hex. flg. hd FUEL TANK BRACKETS TO CHASSIS EACH £0.94 A132W5005F
HOSE - FUEL FILLER EACH £ 105.56 A117L0060F
SEALING RING, FUEL PUMP to TANK EACH £22.25 A120L6009S
BRACKET - ROLL OVER VALVE EACH £ 18.52 A120LO059F
Supercharger
Description Unit Retail price Part number
BOLT - M8 x 16 FLANGE HEAD SUPERCHARGER MOUTNING EACH £0.99 A117W2202F
BY-PASS ACTUATOR VALVE EACH £196.64 A120E6513S

Page 26/32



SJ Sportscars Limited Parts and Accessories Price List

OIL FILL KIT for SUPERCHARGER KIT £61.73 A128E6014S
MOLY-GUARD COUPLER for SUPERCHARGER EACH £22.96 A128E6016S
BOLT, for BY-PASS ACTUATOR EACH £1.19 A128E6019S
SCREW - CENTRE FIXING - SUPERCHARGER to ENGINE EACH £0.99 A117W7215F
SCREW - CENTRE FIXING - SUPERCHARGER to ENGINE EACH £0.99 Al117W7215F
AIR INTAKE SNORKEL, 2727 EACH £94.93 B120E0003F
Gearbox
Bearings
Description Unit Retail price Part number
R/H DIFFERENCIAL BEARING EACH £70.49 A120F7197S
L/H DIFFERENCIAL BEARING EACH £78.87 A120F7198S

Gaskets and Oil seals

Description Unit Retail price Part number

L/H DRIVESHAFT OIL SEAL EACH £16.15 A120F7181S

Gear lever and linkage parts

Description Unit Retail price Part number

DECAL, GEARSHIFT (6 SPEED) EACH £ 3.07 A120U0063F
GEARKNOB, 10mm THREAD for ROUND LEVER EACH £ 65.95 C120U0012F
RETAINER - GEARCHANGE CABLES (On shear panel) EACH £ 3.27 A116FO0013F
GUIDE - GEARSHIFT CABLES EACH £ 12.93 A120F0005F
GEAR KNOB - 6 Speed - Alloy - 12 mm Thread EACH £ 55.89 E120U0012G
SLEEVE, LIFT COLLAR (FLAT) EACH £8.39 A132F0267F
SPRING for LIFT COLLAR EACH £1.09 A132F6338F
BADGE - LOTUS GEAR KNOB Gulf States EACH £10.69 Al132V0178F
ROD END (M5) for CROSSGATE CABLE (Exposed linkage) EACH £22.00 A132F6332F
SPRING - GEAR LEVER LIFT TUBE EACH £ 3.83 A132F0191S
GRUB SCREW - GEAR KNOB to LEVER EACH £1.19 A120W5292F
GEARCHANGE and HANDBRAKE UNIT (6 Speed 1ZR) L/H/D EACH £1,089.60 B120F4003F

Gear lever gaiters

Description Unit Retail price Part number
GEAR LEVER GAITER - 111R EACH £ 68.44 A120V0001K
CLIP - GEAR LEVER GAITER to CENTRE COVER EACH £1.45 A120W6767F
PLATE - GEAR LEVER GAITER BEZEL FIXING 12MY EACH £0.77 A138V0292F
TRIM CLIP EACH £0.76 A132W6111F
RETAINING RING for GEARSHIFT GAITER EACH £7.30 A120V0002F
Mountings
Description Unit Retail price Part number

Page 27/32



SJ Sportscars Limited Parts and Accessories Price List

L/H ENGINE/GEARBOX MOUNTING EACH £161.30 A120E6397S

Heater and Ventilation

Air conditioning

Description Unit Retail price Part number
O RING - Expansion valve to evaporator EACH £1.12 A082P6080F
VALVE - PRESSURE RELIEF for AIR CONDITIONING EACH £59.98 A111P6030H
RECEIVER DRIER EACH £ 45.29 Al132P6014F
ALLEN SCREW M5 x 40 PIPE CLAMP PLATES to EXPANSION VALVE EACH £0.55 A100W7081F
AIR CONDITIONING PIPE - EXPANSION VALVE to SILL CONNECTION EACH £ 223.93 B120P0O009F
SWITCH PANEL- BLUE LED EACH £74.65 Al117MO0026F
RECEIVER DRIER EACH £ 92.43 A117P0O060F
RECEIVER DRIER For Gulf States EACH £ 32.45 SJ120P0001
O RING - for A/C hose joints EACH £0.98 A120P6013H
A/C PIPE, (Front of condenser to bulkhead) EACH £193.11 B117P0051F
A/C VALVE CAP, LOW PRESSURE for R134 SYSTEMS EACH £0.85 SJ923
THERMAL EXPANSION VALVE - EVAPORATOR EACH £ 83.00 A132P0107H
AIR CONDITIONINING CONDENSER EACH £198.00 A117P0130H
PIPE, CONDENSER to RECEIVER DRIER for L/H/D EACH £91.49 B120PO007F
O-RING, 7.65 X 1.78, PIPE JOIN EACH £1.55 A120P6015H
O - RING A/C PIPE JOINT EACH £1.28 A120P6016H
O-RING, 10.8 X 2.4, PIPE JOINT EACH £1.64 A120P6017H
O RING EACH £1.25 A082P6078F
O RING No12 EACH £1.79 A082P6081F
O RING - A/IC SYSTEM EACH £2.29 A120P6014H
PIPE, CONDENSER to RECEIVER DRIER for R/H/D EACH £ 87.67 B120P0O006F
CONDENSER MOUNTING BRACKET FRONT EACH £ 23.43 A124P6006S
CONDENSER BRACKET REAR EACH £ 23.34 Al124P6005S
Heater

Description Unit Retail price Part number
WATER SHIELD for HEATER BLENDER FLAP EACH £ 28.88 A117P0158K
L/H PLENUM RECIRCULATION ASSEMBLY for L/H/D EACH £58.28 B117P0037F
R/H PLENUM RECIRCULATION ASSEMBLY for L/H/D EACH £58.28 B117P0038F
ACTUATOR for HEATER/AC FLAPS (Mounted on heater) EACH £71.68 Al17M6052S
L/H PLENUM RECIRCULATION ASSEMBLY for L/H/D EACH £ 58.28 B117P0037F
FAN CONTROL MODULE EACH £190.09 B117MO0038F
HEATER MOTOR (No resistor) EACH £ 311.58 B117P0163F
MOUNTING - CENTRE FACE LEVEL VENT EACH £ 38.67 Al138V0113F
PLENUM - CAR OUTLET for L/H/D EACH £ 46.54 A120P0017F

Page 28/32



SJ Sportscars Limited Parts and Accessories Price List

AIR DISTRIBUTION UNIT for L/H/D

Heater controls

Description

CONTROL PANEL for R/H/D with A/C

Hubs and Wheels

Center caps, trims and badges

Description
WHEEL CENTRE
WHEEL CENTRE CAP ASSEMBLY (60mm)

WHEEL CENTRE - LOTUS LOGO - BLACK SURROUND - 10 mm DEEP

Hub nuts

Description
DRIVESHAFT NUT (CASTELLATED)
REAR HUB NUT WASHER

Hubs

Description

HUB/BEARING (With wheel speed sensor)

Miscellaneous

Description
TYRE VALVE - PRESSURE SENSING

VALVE STEM - TPMS

Wheel bearings

Description

HUB/BEARING (With wheel speed sensor) (non-Lotus)

Wheels

Description

REAR TYRE, YOKOHAMA ADA47 225/45/17
REAR WHEEL, (Eight split spoke) BLACK
FRONT WHEEL for ELISE TYPE 25

FRONT TYRE, 195/55 R16 Yokohama A048 (SEMI-SLICK)

WUS TRANSMITTER 434 MHZ

Rear suspension

Ball joints

EACH

Unit

EACH

Unit

EACH
EACH
EACH

Unit
EACH
EACH

Unit

EACH

Unit
EACH
EACH

Unit

EACH

Unit

EACH
EACH
EACH
EACH
EACH

£290.06

Retail price

£ 284.41

Retail price
£ 33.87
£ 31.58
£14.70

Retail price
£14.71
£6.30

Retail price

£188.71

Retail price
£ 76.67
£41.83

Retail price

£ 48.50

Retail price
£279.38

£ 459.76

£ 763.27

£ 296.32

£ 48.69

B117P0041F

Part number

B120P0020F

Part number

A120G0046F
A132G0174F
A128G0013F

Part number
A116D6001F
A120D6018F

Part number

A117D6005F

Part number
B121G6000F
A132G6016F

Part number

SJ117D0004

Part number

A121G0006L
A122G0008H
ALS3X0129F
B122G0013L
A132G6017F

Page 29/32



SJ Sportscars Limited Parts and Accessories Price List

Description Unit Retail price Part number

NYLOCK NUT for LOWER BALL JOINTS and TCA PIVOT BOLTS Top and bottom ball joints. EACH £0.52 A100C6019F
REAR TOE LINK OUTER BALL JOINT (Tapered ball joint) EACH £59.66 A117D0089S
REAR TOE LINK INNER BALL JOINT 2 per axle. EACH £61.68 A117D0090S
BALL JOINT CARRIER EACH £115.64 B117D0067F
BALL JOINT (Top and bottom) EACH £13.50 SJ111C0003
REAR TOE LINK INNER BALL JOINT (Non Lotus) EACH £25.50 SJ117D0002
REAR TOE LINK OUTER BALL JOINT (TAPERED) (Non Lotus) EACH £ 26.50 SJ117D0005
BALL JOINT SUSPENSION EACH £43.60 B111C6012F

Bolts, nuts and fixings

Description Unit Retail price Part number

BOLT, UPPER WISHBONE to CHASSIS EACH £0.91 AO079W2055F
BOLT, TOP BALL JOINT CARRIER to UPRIGHT (50 mm) EACH £1.50 A117W7212F
TAB WASHER for WISHBONE PIVOT BOLTS EACH £ 2.63 B116D0031F
DAMPER BOLT Top and bottom bolts EACH £0.51 SJ111C0006

Dampers (adjustable)

Description Unit Retail price Part number
SPANNER, DAMPER ADJUST EACH £ 36.94 A120C6001F
DAMPER BOLT Top and bottom bolts EACH £0.51 SJ111C0006
DAMPER BOLT Top and bottom bolts EACH £0.51 SJ111C0006

Dampers (standard)

Description Unit Retail price Part number

M10 NYLOCK NUT for DAMPER FIXING BOLTS EACH £1.00 A100W3112F
COLLAR/SPRING CLIP SET SET £ 43.66 A120C6003S
REAR DAMPER and SPRING (ELISE 2004 up vin FH_257)(2015) EACH £ 352.40 A120D0007F
REAR DAMPER, ELISE (2004 up to Vin FH _0257) (2015) EACH £ 275.85 A120D0011H
REAR DAMPER, EACH £ 275.85 A122D0008H
LOWER SPRING COLLAR for BILSTEIN DAMPERS EACH £24.50 SJ713

STOP WASHER REPLACEMENT KIT KIT £67.00 TOOOT1531F

SPRING/DAMPER - REAR - SPORT [UR] ASSEMBLY £ 318.35 B122D0007J
SPRING/DAMPER - REAR - SPORT [UR] ASSEMBLY £ 318.35 B122D0007J

Drive shafts

Description Unit Retail price Part number
DRIVESHAFT NUT (CASTELLATED) EACH £14.71 A116D6001F
DRIVESHAFT ASSEMBLY L/H ASSY £ 340.10 B120D4003F

Hubs and Bearings

Description Unit Retail price Part number

HUB/BEARING (With wheel speed sensor) EACH £188.71 A117D6005F

Links and wishbones

Page 30/32



SJ Sportscars Limited Parts and Accessories Price List

Description Unit Retail price Part number

BRACKET - LOWER WISHBONE to CHASSIS L/H EACH £76.52 C120D0023F
M10 NYLOCK NUT UPPER WISHBONE to CHASSIS EACH £1.00 A100W3112F
M10 NYLOCK NUT LOWER WISHBONE BRACKET to CHASSIS EACH £1.00 A100W3112F
REAR TOE LINK OUTER BALL JOINT (Tapered ball joint) EACH £59.66 A117D0089S
REAR TOE LINK INNER BALL JOINT 2 per axle. EACH £61.68 A117D0090S
TAB WASHER for WISHBONE PIVOT BOLTS EACH £ 2.63 B116D0031F
TOP WISHBONE, R/H REAR (inc ball joint & bushes) EACH £ 294.18 B116D0084J
TOP WISHBONE, L/H REAR (inc ball joint and bushes) EACH £ 294.18 B116D0085J
BALL JOINT CARRIER EACH £115.64 B117D0067F
LOWER WISHBONE, R/H REAR (inc ball joint and bushes) EACH £ 355.76 C116D0080J
LOWER WISHBONE, L/H REAR (inc ball joint & bushes) EACH £ 355.76 C116D0081J
BRACKET, LOWER WISHBONE to CHASSIS, R/H EACH £ 46.93 D120D0024F
BALL JOINT (Top and bottom) EACH £13.50 SJ111C0003

Miscellaneous

Description Unit Retail price Part number
1.5mm CAMBER ADJUSTING SHIM EACH £ 6.58 B120D0048F
M10 NYLOCK NUT EACH £0.23 SJ501

REAR CAMBER ADJUSTING SHIM EACH £ 6.58 E111D0052F

Wheel Bearings

Description Unit Retail price Part number

REAR HUB NUT WASHER EACH £6.30 A120D6018F

HUB/BEARING (With wheel speed sensor) (non-Lotus) EACH £ 48.50 SJ117D0004
Steering

Column couplings and universal joints

Description Unit Retail price Part number

LOWER STEERING COLUMN ASSEMBLY ASSEMBLY £89.00 SJ111H0005

Steering Column

Description Unit Retail price Part number

RUBBER GROMMET AROUND STEERING LOCK EACH £1.75 B100V6061F
COLUMN COWL - UPPER (SENOSOFT) EACH £51.79 Al121U0173F
ROTARY CONTACT - AIRBAG EACH £211.12 A120M6010S
UPPER COLUMN COWLING (Black) EACH £13.55 C121U0173F
LOWER STEERING COLUMN COWLING (senosoft, charcoal) EACH £58.95 A121U0172F

Steering locks

Description Unit Retail price Part number

Page 31/32



SJ Sportscars Limited Parts and Accessories Price List

STEERING LOCK

Steering rack gaiters and mountings

Description

SEAL-STEERING RACK TO CHASSIS
STEERING RACK GAITER (PASSENGER SIDE)
RACK GAITER - DRIVER SIDE

Steering racks

Description
FLAT WASHER - M10 For steering rack mounting bolts

STEERING RACK, all models R/H/D

Steering wheels

Description

ROTARY CONNECTOR for AIR BAG INFLATOR

Track rod ends

Description

TRACK ROD END (All models) (Lotus)
LOCK NUT for TRACK ROD ENDS
TRACK ROD END

NYLOC NUT for TRACK ROD END

EACH

Unit

EACH
EACH
EACH

Unit
EACH
EACH

Unit

EACH

Unit

EACH
EACH
EACH
EACH

£ 365.84

Retail price
£3.23
£12.62

£12.62

Retail price
£0.25
£673.06

Retail price

£ 457.82

Retail price
£ 48.24
£2.09
£9.98

£0.69

A111H6003S

Part number
B120HO002F
A120H6004S

A120H6005S

Part number
A075W4024Z
A117HO052F

Part number

A138V0998F

Part number

A117HO009F
Al111W3124F
SJ111HO0004

A111W3157F

Page 32/32



